Math 60 7.4 Finding LCD and Forming Equivalent Rational Expressions

Objectives:
1) Find the Least Common Denominator (LCD) of two rational expressions
a. Factor each denominator completely, including any negative GCF .
b. LCD is the product of each prime factor the greatest number of times from any denominator.
2) Write a rational expression that is equivalent to a given rational expression
a. Determine which factor(s) is(are) missing from the given fraction
b. Multiply the given fraction by 1, written as (missing factor)/ (missing factor).
c. The correct answer is NOT in lowest terms or simplified.
3) Use the LCD to write equivalent rational expressions.
a. Find the LCD (objective #1)
b. Write equivalent rational expressions (objective #2)

Exaniples:

Find the LCD of the given pairs of fractions.
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7) Write g as an equivalent fraction with denominator 12.

8) Use your calculator to show that your answers in the previous question are equal.

. 7 . . . .
9) Write Fw I as an equivalent fraction with denominator 6x> +4x .
x°+2x -

10) Show that your answers in the previous question are equivalent by evaluating them for x = 2

Find the LCD of the given expressions and rewrite each rational expression with the LCD.
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Practice:

Find the LCD of the given expressions and rewrite each rational expression with the LCD.
(Use the LCD you found in the first examples.)
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Find the LCD of the given expressions and rewrite each rational expression with the LCD.
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